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Add And Subtract Money

Here are the prices of some items af the supermarket:

Box Of Eggs Broccoli
£1.85 50p

Bag Of Sugar Jar Of Honey
90p £1.40

Find the cost of:

1) A bag of sugar and a jar of honey
2) B ham and a broccoli
3) A box of eggs and a jar of honey

4) 2 hams

5) Anne buys a ham. She pays with a £5 note.
How much change does she get?

6) Linda buys a jar of honey. She pays with a £2 coin.
How much change does she get?

7) Sally wants to buy a ham and a box of eggs. She only has a
£5 note. How much more does she heed?
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Answers:

1)90p + £1.40 = £2.30
2) £3.80 + 50p = £4.30
3)£1.85+£1.40 =£3.25
4)£3.80 + £3.80 = £7.60

5) £5.00-£3.80 =£1.20

6) £2.00 - £1.40 = 60p

7)£3.80 + £1.85 = £5.65
£5.65 - £5.00 = 65p
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